Strategy for Solving Rational Equations Notes

‘a) Identify any non-permissible values

b) Find the Lowest Common Multiple (LCM) of the denominators
¢) Multiply every term on both sides by the LCM

d) Reject any non-permissible values that appear as solutions
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3. The speed of a plane is seven times as great as the speed of a car. The car takes 3 hours longer than the plane
to travel 315 km. Find the speed of the car and the speed of the plane in km/hr. (use the back of the sheet )
et X be the fpecel ot the car

ot Ix pt the speed of vhe plane
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Practice Solving Radical Equations Name: Date:

L. Solve the following radical equations algebraically. State restrictions at each stage of the solution process
and identify any extraneous roots.
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